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1.  Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please get it replaced immediately.

(5% SBES" o) [FHeo H0BosudnS’ 85 SrmHoSTHIBR. 5% SBBNS® D, BATG IBSNS® PR
DgFr S*55S" TR FRHNS" DTETRD D0erd SRETHHBW.

2.  The Test Booklet contains 150 questions. Each question carries two marks.
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3. The Quesﬁon Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.
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4. The Test Booklet is printed in four (4) Series, viz. [A][B][C][D]. The Series, [A]or [Blor [C] or [D]is printed
on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet Series or [Blor

or [D] in Part C on side 1 of the Answer Sheet by darkening the appropriate circle with Blue/Black Ball
point pen. _
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Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :
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If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.

No correspondence will be entertained in the matiter.
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Each question is followed by 4 answer choices. Of these, you hava to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue/Black Ball .point pen to make heavy
black marks to fill the circle completely. Make no other stray marks.
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e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
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Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black Ball point pen by
darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding will

lead to invalidation of your Answer Sheet.
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Example : If the Paper Code is 027, and Roll No. is 95640376 fill as shown below :
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7.  Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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8. The candidate should not do rough work or write any irrelevant matter in the Answer Sheet. Doing
go will lead to invalidation.

5550 ‘08390 (Rough Work) D TR S8R BH5HEY DBEHENORS ™D BATG DBB0P [FONOTeESD.

ot FERHS" BATEES JBR0 583903506 &0cerd8 T8 SAHBIN.

|
.1
|

9. Do not mark answer choices on the Test Booklet. Violation of this will be viewed geriuusly.
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10. Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record, failing which
disciplinary action will be taken.
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Four years ago, the average age of a

family of four persons was 18 years.

During this period, a baby was born.
Today, if the average age of family is
still 18 years, the age of baby is

(1) 2.5 years

(2) 2years

(3) 1.2 years

(4) 3.0 years

If

A= Z (x; -x) and
1

B = Z Z (xi __xj)z,
i=1 j=1

then B is equal to

(1) 4nA
(2) 4n*A
(3) 2rA
(4) 2n°A

For n observations x;,x,, ", %,, let

A =i Xy B =.1119dian(x1:x2"“’xﬂ’)
1

Czi \xi_A |a.'§1d
1

D= |x-B|
1
Then which one of the following is true?
1) A+B=-(C+D)
(2) A+B=z2C+D
3) C=<D
4) C=z=D

LD/718

If n =10,

in=z x? =.0:

Zx? =30, Z x} =1000, then £, is

(1) 10/9 (2) 100/9
3 0 (4)- 10/3

If for the observations x,,%s, ;%5

mean = 2 (variance) and Z %; =20

then Y x} is
i

(1) 20 (2) 100
(3) 90 (4) 120

If geometric mean of numbers 4, 6 and
x is 6, then value of x is
1 65 (2) 8
3 9 (4) 4

For a set of positive integers choose
the possible correct statements for the
values of AM, GM and HM
respectively

(1) (30, 40, 60)

(2) (40,60, 30)

(3) (40, 30, 60)

(4) (60,40,30)

The appropriate relation between
mean X and median M for a
positively skewed distribution is

1) X<M (2 X=M

@ X>3M () X>M

For symmetric distribution the
quartiles @,,Q, and & satisfy the
relation

(1) Ql = Qa

(2) Q=@+ Q;

() Q-Q;=Q-6

(4) @, +Q;=4Q,
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e Hoddyore [BHHW, Herdd e feo

ef), Sevon  HFH ITRE DALY
18 Josigren, & oS’ 2, FBY =00,
S8 Devowdns” Jghe Vo8 SADLAY
18 Sostytren Sawds', & Y SoHY

(1) 2.5 Sosgoeen

(2) 2 Sostyeo

(3) 1.2 Sodgyoeen

(4) 3.0 Sodyoren

A:Z (x —X)f 8oty
1

B= Z z (x£ —xj)i, Iy
i=1 j=1

B £28 Saomnhw

(I} 44 - -

(2) 4n’A

(3) 2nA

(4) 2n*A

Xy, X, X, &N 508000D,

A =i x;, B = 20851850 %1, g, 05 Xy
1

C=3 |x-A| w80
1

D =Z | x; B l

1
%2 1808 08" 28 dedw?
(1) A+B=-(C+D)
(2 A+B=C+D

(3) C<D
(4) C=D

n =10, in =Z x? =0, Zx? =30,

Z xf =1000, ©ondsS® B, B, deod

(1) 10/9 (2) 100/9
@ 0 (4> 10/3

Xy, %0, 00, Xy ©R DBB0SOH, DGR = 2

(95y8) DoBoto Y x; =20 eandS,

Y =} 2e0d
(1) 20 (2) 100
(3) 90 (4 120

4, 6 D08k x B, wéme‘scm ;S.Jcﬁé;‘nmi 6
B00PS°, x @Y, dend

(1) 6.5 (2) 8
3 9 4) 4

Sl Jrgos Sowge swas AM, GM
5800 HM 5808 $8ahi devden

(1) (30, 40, 60)

(2) (40,60, 30)

(3) (40, 30, 60)
(4) (60, 40, 30)

TS s Dprmding’, Sogodn X

0Ban B0y BHD0 M o g Ko p3faTAlelnrvo0)
1 X<M (2 X=M
@ X>3M 4 X>M

), S Dermssns’, SBToTe) Q,,Q,
2B @y © Do o Howoginw

(1) @ =@,

(2) Q=@ +Q,

3) @ -Q, =Q, -Q,

(4) Q1 + Qa == 4@2



10.

11.

12'

13.

14.

15.

(3) 90°

The median of set of values 21, 15, 35,
30, 46, 49, 37 is :

(1) 30 (2) 29

3) 35 (4) 49

Regression line of y on x passes

through the points (3, 4) and (5, 6).
Then the correlation coefficient
between x and y is

(1) 1/2 2 -1

3) 1 (4) 1/3

Two regression lines y on x and x on y
respectively pass through the points
(1, 1), (3, -1) and (3, 2), (8, 3), then the
angle between the two regression lines
is

(n 0o° C A 450

(4) 60°

Two regression lines y on x and x on y
respectively pass through the points
(1, 1), (3, 1) and (3, 2), (8, —-3), then
the value of sin 6,0 being the angle

between the two regression lines is
1

(1) 0 2 22

1

@ 3 (4) 3%

Two regression lines y on x and x on y
pass through the points respectively
(3, 1), (1, 2) and (1, 1), (1/2,2). Then

the value of b, 18

1 -2 (2) 2
(3) 12 (4) -1/2

Two regression lines y on x and x on y
pass through the points respectively
(3, 1), (1, 2) and (1, 1), (1/2,2). Then

o, is

(1) 20, (2] &
o o

3) = 4) —*

(3) 2 (4) n

(6)

16.

17.

18.

19.-

20,

21.

(3 -172
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If the lines of regression are
y+4x =13 and 3y +2x =19, then the

coefficient of correlation between X
and Y is

1 12 @ -1/46

4). U2

The regression equations of ¥ on X
and X on Y are respectively ¥ =X

and 4X -Y =3, then the correlation
coefficient between X and Y is

1) 0 (2) 0.5

(3) -0.5 4 1

Let the correlation coefficient between
X and Y be 0.2. Let U =1+2X and
V=1-2Y. Then the -correlation
coefficient between U and V is

(1) 0.2 (2) -0.2

(3) 0.8 (4) 04

If x=y+8 and y=kx+9 '_ are
regression lines of x on ¥, and y on x

respectively, then the range of & is
(1 k<0 (2) k20

(3 -1<k<1 (4) 0<ks<l

If b, =i, r=-3— and o, =3, then o,
5 5

will be
0 6 Tl (2) 4
3 2 (4) 5

What conditions should be satisfied
for E [y-a ~bx] to be minimum?
1) b=0, a=p,

g

2) a=0,b=—2
o
.
(3) b=f2_)a‘=#y-b»ux
o
) b=-22L a=u,-by
(4) o2 a=u,-bu
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10.

11.

12,

13.

14.

15.

21, 15, 35, 30, 46, 49, 37 dewde BwE),

SoggfBH0
(1) 30 (2) 29
(8) 36 (4) 49

XDy &R (HBNHD B (3, 4) 2Bk (5, 6)
& Dot oG DEPR. BgPE x Dbk

¥ Dogs ATVoweE st
1 12 2 -1
@ 1 4) 173

x POy 20805 y PN x & Bocd (SARD

. Byew 3 (1, 1), (3, —1) Hobako (3, 2),

(8, —3) e DoSH® o0& JaIT, Be

BKHE Do D%y Ko 5
(1) 0° (2) 45°
(3) 90° (4) 60°

x Py 20Bcko y PH x 6D Bot [SBKSS
Ben v (1, 1), (3, —1) Hdatn (3, 2),
(8, —3), &3 DoKHe od anHS® HBak
0 e38 S Doy |I8KD Bae Wi

§'md5°, sin 6 &g, de0d
1
92
1
32

(1) 0 (2)
3 1 (4)
x POy So8aho y PO X &R ok HBHD

B B&sm (3, 1), (1, 2) 8o (1, 1),
(1!'2,2) 3 Potye Dod DT, b,

G30E), DD
(1) -2 (2 2
(3) 12 (4) -1/2

x P y 208ao y PO X & BB Ben
e (3, 1), (1, 2) 8ot (1, 1),
(1!2,2) vn DoYe Wod oIS,
a, @og), DD

) Zs, (2)

o,
o o.
3 X 4 X
(3) = (4) 1

(7)

16.

17.

18.

19.

20.

21.

Q) 12 (2)

y+4x =13 2B 3y +2x =19, D
B@rH0% B BHS, X 08akn Y o Dody I35
monod Hensd

~1/4/6
/42

X 3% Y 308ak0 Y b X & (58K50% Saen
spmre Y =X HB8an 4X-Y =3
wandS’, X 8o Y o Sy Srdowod
Homgdn

(1) 0 . (2) 05
(3) -05 (4) 1

3) -12 (4)

X 208050 Y & Sogsy ddonod roeatsn 0.2.
Let U=1+2X %8cfn V=1-2Y. U .
208050 V' & By drdonod KysaEdm

(1) 0.2 (2) -0.2
(3 0.8 (4) 0.4

x=y+8 SoBa y=kx+9 D HEJT
y P x 20800 x Py &R BSHDD BB,
k @208, 775

(1) k<0 (2) k=20

(3) -1<k<l (4 O<k<l

by, =%, r=% 28ckn o, =3 ®oHT
oy [S3SL1 Dend

(1 3 (2) 4

3 2 (4) b

Ely-a-bxl gogomed o sgsoe &3
SE55B7
1 b=0,a=4,

2) a=0b=—"2

3) b=

0_2
g

(4) bz'o__g?a=#y_b#x
kg



22,

23.

24.

25.

26.

Two lines of regression are identical,
then the value of correlation
coefficient is always

T (2) +lor-1

(3) Zero 4) -1

The equations of two regression lines
are x +y=6 and 2x +4y = 20. Then
the means for x and y are respectively
(1) (3,3 (2) 4,2)
3) (2,4 (4) (4,3)

If the value of correlation coefficient
between x and y is 1, then the value of
correlation coefficient between x and

-y/2 is
1 1 2 -1
(38) -1/2 4)  1/2

If X and Y are positively correlated
random variables, then which one of
the following is correct?

1) E[x-Y]>E[X]

2 E[x-Y]=E[X]-E}]

3) E[]>E [X]

4 E[X-Y]>E[X]-El]

Let {(xi,yé):i=1,2,---,n} be pair of

observations on the variable (X ,Y). If

Y. =a+bx;, i=12,-,n, regression

Bune of ¥ on X 'is y=a+bx,

Sf:i(Yi—yi)z, and r is the
i=1

correlation coefficient between X and
Y, then which one of the following is
correct?

(1) 8=0;
(2) Si=

2

E:
3) S=o?f1-r?)
(4) Sf:crf(l—rz)

(8)

217.

28,

29.

30.

LD/718

If frequency (AB)=0 then value of

coefficient of association between A
and B is
(1) Zero (2 -1

3) +1 (4) 05

Given the class frequencies N =100,

(4)=60, (B)=70, (AB)=40, the
frequency of class (af) is
(1) 30 (2) 20

(3) 40 (4) 10

Choose from the following the correct
criterion for independence of two

attributes A and B
(1 (aB)=(4)-(B)
20 (AB)=0

(3) (M):ﬁgﬁl
@ (AB)=(ap)

Given N =250, (AB)=10, (A)=80,
(B)=100 for two attributes A and B.
Which one of the following statements
is true?

(1) The data is consistent

(2) The data is not consistent

(3) A and B are independent

(4) A and B are negatively associated



LD/718

22.

23.

24.

25.

260

Bok [PBKLD  Baen  afB  eondd,
Addowod s8R0 e
(1) +1 (2) +185-1

(3) wrdgn (4 -1

x+y=6 26cko 2x+4y=20 &R Dot

BER20% BRe HHEBERBHS’, x LoBov y © .

- B0, Doesgre) SR

L 3,3 @ 42
@ @49 @ 43

x 8ckn y © Dy o Drdonod HEE 1
oS, x W - y/2Hgy Ko BT
Rowog e dend

1 1 2 -1
(3) -12 4) 12

X 50800 Y @ §oris S50096 aird)D)s
Soore ondS?, S 808 TOS® I8 dEan?
(1) E[X-Y]>E [X]

@ Ex-v]=-E[X]-E}]

3) E]>E[X]

@ EX Y]>E[X]E]

(x,Y) &d )
{;,9,):i=1,2,--,n} 30 s6%ede
afoTTE. Y,=a+bx;, i1=12,+,n

28aw X P9 Y B, y=a+bx

sonss B, 82 =Y (¥, - ) X 2900m
i=1

Y o S5 o S500008 Koestdn r @095,

o 808 T°0S° D8 dwH0?

1) §2=o?

@ 8=

3) 82=0(1-r?)

@) S2=o?(-r?)

x

27,

28,

29.

28epoga0 (AB) =0 eanss’, A 28ain B

0 D885 1o BB HEE0
(1) wrsgo (2 -1

3 -1 < (4) 05

N =100, (A) =60, (B) =10,

(AB)=40, «3d ®oK® odidersPIS,
(af) 8518 Booty, rdeDeagioo

(1) 30 (2) 20

(3) 40 (4) 10

A 58050 B e Bok Kere JghoBido

SonoBoD DOHXHN &4 208 TRE" A8?

1) (aB)=(4)-(B)

@ (AB)=0
3) (AB)JA&(B)

@ (AB)=(ap)

30. A %8c%n B e ok KereH, N =250,

(AB)=170, (4)=80, (B)=100 woxd3",

&1 (808 [SHD5500S” I8 DesHN?
(1) &Seroshn oLl
(2) oroddn DUSEBIB

(3) A H8ain B eo Jghophshoed

(4) A%8cnB mame?é&ém%%ﬁnw



31.

32.

33.

34.

35.

If P(A)=1, then which one of the
following is not correct?

(1) P(AnB)=P(B)

@ P(anB)=P (B

3) PlA°nB)=0

4) P(a°~B°)=P (B

If P(A)=1, then which one of the
following is not correct?

(1) P(AuB)=1

@ PaA°UB)=P(B)
@3 P (a° uB°)=P (B)
@ PlauB®)=P(B°)

It P(A‘ﬁB)z%, P(B)z-jg and

I (A)z%, then which one of the °

following is correct?
(1) P (A/B)= %

25
P Cl===
@ P(a/B%) =
3 P (AWB):%
7
] P AC ik T
(@) P (a°/B°) =
For two events A and B the following
probabilities are given
(a) P(A mB)=%,P (A):% andP (B):%
1 AL LA
(B) P(AmB)_4,P (za)_8 andP (B) -

(C) P (A mB)= 2 (B)z-;— and P (A):%

1 P sy 18
nB)=—P(A)=—

(D) P(A B) 3’ (A) 4andP(B 6

Then which one of above given data
are correct?

(1) (A)only - (2) (B)only

(3) (C)only (4) Allof the above
Given that P (A)=a, P (B)=p and
P(AB)=7. Then P (A° " B) s

1 -8 @ pl-a)

8 (-a)A@ (5-7)

(10)

36.

37.

38.

39.

40.

41.

LD/718

Each of two persons tosses their fair
coins. The probability that they obtain
the same number of heads is

(1) 1/4 (2) 38/4

(3) 5/32 (4) 5/16

From 6 positive and 8 negative
numbers, 4 numbers are chosen at
random without replacement and
multiplied. Then the probability that

the product is positive number is
(1) 409/1001 (2) 70/1001
(3) 505/1001 (4) 420/1001

If A and B are two mutually exclusive
events with positive probabilities,
then which one of the following is not
correct?

(1 P (A UB®)=1

@ PlAnB®)=P(4)

3 P(AuB)=1

4 P(a°~B)=P(B)

IfA and B are two independent events
such that P (A U B)=1. Then which
one of the following is not correct?

1 P(A)=1, P(B)=0

@ P(A)=0, P(B)=1

3) P(A)=0and P (B)=0

4 P(A)=1or P(B)=1

If A and B are two events such that A
and BS are mutually exclusive and A
and B are independent. Then which
one of the following is correct if
P(A)>0?

1 P(B)=1 @ P(B)=0

3 P(a)=1, P(B®)>0

4 P(A®uUB)=P(A°)P(B)>0
An Urn I contains 3 white and 4 red
balls, and Urn II contains 4 white and
3 red balls. A ball is drawn from Um I
and transferred to Urn 11, then a ball 18
drawn from Urn IL. Let Q be the sample
space of this random experiment. Define
a random variable X as X (w)= No. of
colours in . Then P (X =1) is

(1) 9/56 (2) 31/56
(3) 16/56 (4) 17/56
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31.

32.

33.

34.

35.

P (A)=1 eonss’, $ 808 T06° 98 dadn
5°07?

(1) P(AnB)=P(B)

@ P(anB¢)=P (B

(3 PlA°~B)=0

(4) P (A° ~B°)=P (B°)

P(A)=1 eonss, s+ (808 =08 28
Db 5°87?

(1) P(AUB)=1

2 P(A°UB)=P(B)

3) P (a°uBC)=P(B°)

4 PlauBc)=pP(8°)

P(AnB):%, P(B):% 30B0»
P(A):% oS & 1808 TOS' 28
DegH?
(1) P(A/B)=i

25
2 B¢)=—
@ Pla/B)=2
@ P(a°/B)=2
(4)

A $8cln B &3 Both Howked S (8od
Sogridgdeo BAGVEDD
(A) P(AMB)=%,P (A)=% andP

(B) P(AmB)=%,P (A)=%

™
T

[N K- BN L NG )

andP (B

—
S
1]

N
=
Il

(€) P(AnB)=P (B):-lg and
(D) P(AmB):%,P (A):% andP|B°
O aD)d SToENS’ 8 Desin?

(1) (A arpd (2) (B)srpd
(3) (C)arEd (4) 23y
P(A)=aq, P (B)=p S08an
P(ANB)=y sanss’, P(AC ﬁB) B,
DeD?

(1)
(3)

—

\wn-/
5| &

pl-a)
(B-7)

Eflaif—)m Ei))

(11)

36.

37.

38.

39.

40.

41.

30 oS’ BT DI AR TV
0BT, 2E68 o8 Jog e Fpen 5
Sogrdgh

(1) 14 (2) 3/4
(3) 5/32 (4) 5/16

6 gl 08 8 aerds Sowg® Ho0d,
4 Sowyiy atrgyEsor 868 Bintom FE

HBoSe0leD. S 0&)::«)3 WMB&% Sograge
(1) 409/1001 (2) 70/1001
(3) 505/1001 (4) 420/1001

A 8ot B &2 G Soprdghen Ko 630
506 FRIDIT, Se (800 T0E" OB D SE?
1 P (A° UB%)=1

@ P(anB%)=P(A)

3 P(AuUB)=1

4) P(A° ~B)=P (B)

A 58050 B e Sgoy soewden Ho8akn
P (A UB)=1. egpc & 808 70" 28
DS 5707

(1) PEA]:I, P EB%zO

2 P(A)=0, P(B)=1

3) P(A)=0 %8ax P (B)=0

4 P(A)=1 &= P(B)=1

A %8050 B 53 Both $oedeH, A So8aio
BC en 568 30zren $08ain A 2o8ain B e
Sgoginoey P (A)>0 eonss’, &s 1808
FS* D8 desdn?

(1) P(B)=1

@ P(B)=0

@ P(a)=1, P(B)>0
4 P(a°UB)=P(a°) P (B)>0

go¥an 1 &° 3 392 8ok 4 B wodven,
gogno I & 4 Bed  HoBa
3 D wotueayD. ¥osan I Si0d ¥ 2odd
ARYE™D Zowsn 11 %08 rE)wiind 8ain
gogsn 11 Rood ¥ 208D HYSTIRM.
Q 38 a IR ([FADD0 B,
ToHS edndn. X & argyd)s Heosdd

X(w)= @ & Gobo Nody D
DiigD0H. efped P (X =1) dend

(1) 9/56. (2) 31/56

(3) 16/56 (4) /56



42,

43.

44.

45.

46.

An unfair coin is tossed until two ‘H’
appears. Let X be a random variable
defined as number of tosses required
to get two heads. If P is the probability
of a head and ¢g=1-p, then

P (X =x)is

(1) xp2qx-1, X =1! 2: :

@ (x-1)p'¢"* =28

(3) (x +1) p%¢*,x=0,1,2 -

(). x prg" s x=2,3

An unfair coin is tossed until two
‘H’ appears. Let X be a random variable
defined as number of additional tosses
required to get two heads. Then
P (X =3)is

(D) -=p'g" =12, ~

2) (E-1)p¢"?x=2,8-

@ f{x+1)ple®;x=0,1,2--

(4) X pqu_lax = 2: 3!

A biased coin whose faces are numbered
1 & 2 is tossed two times. Let Q be the
sample space of this random
experiment. A random variable X is
defined as X (») = sum of the numbers

in . If P (#)=k (max of the numbers
in @), then P (X =3) is

(1) 271 (2) 1/2

(8) 41 (4) 3/

Let P, be the induced probability set
function and Fy be the corresponding

distribution function of some random
variable X. Then Py (a,b) can be

written in terms of Fy by

(1) Fy (b)-Fx (@)

(2) Fy (b-0)-Fy (a)

(3) Fy(b-0)-Fx (@a-0)

(4) Fy (b)-Fy (@-0)

Let P, be the induced probability set
function and Fy be the corresponding

digtribution function of some random
variable X. Then Py [a,b) can be

written in terms of F, by

() Fy (b)-Fx (a)

(2)  Fy (b-0)-Fx (a)
(3) Fy(b-0)-Fx (@a-0)
(4) Fy (b)-Fx (@-0)

(12)

47,

48,

49.

50.

LD/718

A distribution function Fy () of some
random variable X is defined as

F,(x) =0 if x<0
=2 ; 2 if 0<x<1
= 2x4—1 if 1sx<2
= i x=2
If P (X =x)=p (x), then {p (0). p )}
is '
@ {,1/4} @ {/48}

@ U8.Y4) (4 34,0}

Let Fy (x) be a distribution function
such that P [X =x]|=p (x) is positive
for =01, 2. Let
K=p(0)+p@)+p(2). Then Fy(x)
will be both continuous and discrete if
(1) K=0
I
3) K <1

@ p(x)>—134, w018

Let F, (x) be a distribution function
such that P[X =x]=p (x) is 20 for
x=0,1,2.Let K=p(0)+p @)+ p ()
Then Fy (x) will be continuous if

(y K=0

(2) K=1

e

4 p (x)>-;—, x=0,1,2

Let f(x) be the pdf of some
distribution function Fy (x). Then
f(x) always satisfies one of the
following. Which one is correct?

(1) flx)>0

@ 0<f(x)<1

3) lim—* 50f(x)=C,C<w

4 0sfl(x)<w '
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42.

43-

45.

46.

Boiy ‘H oo $3y08, 355 w8, 8E TR0
J8IDTE. X e oSrdyd)s HOTCRD VO
S oged HAYooD ©HERD EDBHO Doy
DegD0BRAEN8. P &RG &7y 808, Hogrdgs
480 g=1l-p @odF, e
P (X =x) 2e03 |
1) xp*g*t, x=12,

@2 (& -1)p*¢*?,x=2,3

(3) (x +1) p’¢*,x=0,1,2 -

(4) xp’q~,x=2,3,

Botks H e S8y08 H6% w8y 8 THI0N
HoEBATE. X @R airEyd)s HOTRHD B0
Shen SHOEL WIVEPI BESY OB
Beor dEsDoSnEI8. P (X = x) 2008

1) xp’gt,x=12,

@ (x-1)p*¢* ", x =23

3 (x+1)p’¢*,x=0,1,2-

4) =x PP, x=2,3,

1 “Ban 2 Soagn Ko SoPdoe Ko ol
88 THI0K  BoRE JtnT. B
afeyDE BEIHED Boo¥), ToHS edSeaN
Q. ok, asryays ot X % X (0)= @
S'o o DM DGV
P (w)=k. (o &% KBy Soxy) @00

P (X =3) 2005
(1) 21 (2) 1/2
(38) 4/7 (4) 3/

X ed afryays Soos, Py 598 (286 Sogr
a8 D08 Shhohan weay Fy &8

RVowofs (Shoohido.  SPE

Jerresn

(4) Fy®)-Fx(a-0)

X e oleydys Sorsd, Py ond (208
Sogragh HDod Shockson Boban Fy TRIA)
SopoBH DEraER |FHcdnN. eopesd Py [a,b)
38 Fy &

(1) Fx(b)-TFx (o)

(2) Fy (b-0)-Fy (a)

(3) Fy(b-0)-Fx %a-—O)

(4) Fy(b)-Fx(@-0)

(13)

47.

49.

50'

o8, oy dood Fy () @0, ded
FR0s50 X &e Zob QYgDoBEIE.

Fy (x) =0, x < 0y syt
=x;1’ Osxe_:?gao?ﬁ}:ﬁﬁy@
= ——4;-, 1< x < POOIPE
o | " x>2 900N PG

P(X=x)= plx), ©0REPED,

{p (0), p (2)} 2003
o Py @ aye

@ f8.1/4) @ B/40}

x=0,1,2 eovdype P [x =x|=p (x)
gtssoadyey, Dered avahdn Fy (x)
digRodwdsa. K =p ©)+p V+p (@).
wipce Fy (x) o8 ea2yyso 2Bt

Daysysn Both SHERE W
(1) K=0
3) K <1

@ p(x)>%, x=0,1,2

£=01,2 woxdipdd PlX = x)=p (x)
Sreyioiopoty, DETER (F0aHR Fy (x)
pggoodndss. K=p (©)+p@)+p @)
wspth Fy (x) «d8 ed@yPI» 52505
S50

1 K=0 (2)

3 K<l

K=1
 (4) p(x)>%,x=0,1,2

ad), Dwred SRoabsn  Fx (x) o308,
soo. [ ) . odpe flx) S B8
RS ), TRR JTED IGAPE EYRHEBI0.
50cHS° DB DEHV? .

QO flx)>0

2 0<f (x) %3

@ lim—=—0f@E)=C,C<

4) 0s<flx)<w



51.

52.

53.

54.

55.

Let (X;, Xg') be a random sample from

N (0,1). Then the value of
P[X? + X2 24X,X, ) is

(1) 12 (2) 1/3

(3) 273 (4) 3/4

If a uniform rod of unit length is
broken at a random point into two
parts, then the expected value of the
area of the rectangle formed by these
two parts is

1) 112 @)
3 Y4 @) 1/2

If X, and X, be two identically

distributed independent random
variables, the X, + X, have the same

distribution as 2X,
(1) for whatever be the distribution

1/6

of X,
(2) if X, has a suitable normal
distribution
(3) if X, has a suitable Cauchy
: distribution

(4)

if X, has a suitable exponential
type distribution

If X and Y are independent random
variables such that X+Y and X -Y
are also independent, then which one
of the following statements is correct?

(1) such a pair of random variables
cannot exist

X and Y are necessarily normally
distributed

one of the random variables X
and Y is normally distributed
while the other could have a
non-normal distribution

none of the above

(2)
(3)

(4)
Let (X,Y) have a bivariate normal

distribution N [O, 0,17 %} . Then the

value of P [X? +¥2 > 4XY ] is
(1) 14 @ 12
(3) 34 4) 13

(14)

LD/718

56. If X,, i=12 are independent

exponentially  distributed
variables with respective pdfs
f (x; 6£)=%exp{—%-} for x>0, 6,>0,

i

random

i=1.2
consider
statements :
X,+X, also has an exponential
distribution
min {X,,X,} has an exponential
distribution
Of these statements :
(1) (A) and (B) are correct
(2) (A) alone is correct
(3) (B) alone is correct
(4) neither (A) nor (B) is correct

Then the  following

(A)

(B)

57. If the random variables X and Y have
joint probability density function
given by

fle,y)=x exp{-x (y+1)} x>0, y>0,

then the value of P[Y > 2/X =1] is

1) e 2 ¢

=
2

(4 "€

@ ©
Let (X,;,X,) be a random sample from
a gamma distribution G (2,'1). Then
the value of P [XIEXZ] is

5 5 R 2) 1/2
(3) 14 4) U3

58.

59. Let (X;,X,) be a random sample from
N (0,1). Then P[-X, <X, <X,] is

(1 12 (2) 14

3 13 4) 1

60. Let (Xl,Xg] be a random sample from
gamma distribution G (1,1). Then
P[X,-X,>log, 4] is
(1) 12 (2)
(3 U3 (4)

1/4
1/8

e
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51.

52,

53.

54.

55.

(X,,X,) @38 N(0,1) %008 &E%

aSreeynE (PAETHID0. P
P [X2 + X2 > 4X,X, | sevs
1 12 2 13
3) 23 (4) 3/4

28, OOTRS PGP Ko LT KGR ay
Ay DNE DORD) SIS Bo erTreorT DGRy
i, wipiky & o Frred dGHAED
BEHBLHDD DY), PPogin @wy), eIl
DD

W 12 @ Y6

(38) 14 4) 1/2

X, 508an X, eo dydy DoBokn Sghos
RS OISy BoTRPIT, X, + X, 8
ao 2X; e af dgrmdinmy E9oknowtd 88
&

(1) X, 2 9gredingdito S§auoddiny
(2) X, ®As ardy Dermdsndy 59

s3itleltinptaV]

(3) X, ®RS s dgradiosn $Qatood
DB

(4) X; #R3 3-8 dgrasdnid $Qabood
SV

X 8ot Y Sgsos oyt seosn ©ea
X+Y S8aw X -Y eo Sgoddwen
©a0HS’, ¥s 1808 TIS° D (HHHHHN DWHN?
(1) 305083 cITehdyE HOTRVO 8508y GOGED
(2) XH58cswYen &mmwﬂa@.&m@
(3) X 08a Y oS .86 Iudr7Ry So8cko
2SS R Srmdhow
SO0
4) PDd=H
(X,Y) ed8 agps 2umdy sgrassw
N [0, e Py -‘;-] B0 EQatuotoiy. P
P[X? +Y? 2 4XY] pevs

(1) 14 (2) 1/2
(3) 3/4 (4) 173

(15)

56.

X, i=1,2 & SgBoly Hrd Ay
BB @), 0. 0. |D.00 SHJM

f(x; Si)zéexp{—-gﬂ}, x>0, 8>0, i=1,2

67.

58.

59.

60.

t i

Py 4 (308 [HIDIBOR BRE BN

(A) X, +X, 38 0% daradsod
EQ a0

(B) min{X,,X,} ¢38 558 dgrasdsoodd
§§o‘inocf.3:\’1)

e [HHBIB0eS

(1) (A) S8050 (B) oo desin

(2) (A) s Dz

(3) (B) 2o i3d dasdnd

(4)  (A) 208t (B) v 3ot dardw 579

X $8cin Y ed abrdydns Sovvive B,
Hoafng Dogrdg® Feo|Bs SRoaHH0
f(x,y):x exp {—x (y+1]} x>0, ¥y>0,
wansS* PY >2/X =1] @k, desd

(1) e @ €

@ ¢ @ e
(X,,X,) =86 mar dprastodn G(2,1)
H00&  BRETHAED @“5315‘35 (PA BTS00,
espco P [X,2X,] Gng, se03

(1) 1 (@ 12

(3) 1/4 (4) 173

(X,,X,) &38 N(0,1) %008 &o85udd

airesy a8 BBETSB. e
P[-X, <X, <X,] pews
(1) 12 (2) 1/4
(3) 13 (4) 1

(X,,X,) 38 mar agresdan G(1,1)
o0& BWERNAS  AIrgyDE (PSS,
wapes P[X,-X, >log, 4] devs

1 12 (2) 1/4
3 13 (4) 1/8
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61.

62.

In case of n attributes, the total
number of ultimate class frequencies
is

1) 2n @ 2°

(3) n® (4) n+2

A population of size 800 is divided in
3 strata. Their sizes and standard
deviations (S.D.) are

[ STRATA

1 E | Wl

| SIZE

200 300 300

| S.D. 6 8 12

63.

| SIZE

64.

A stratified sample of size 120 is to be
drawn from the population. The size of
the sample from second stratum, by
Neyman’s allocation is

(1) 60 (2) 170

(3) 40 (4) 45

A population of size 800 is divided into

3 strata. Their sizes are
STRATA

I I | I

200 | 300 | 300 |

A stratified sample of size 120 is to

drawn from the population. The size of
the sample from second stratum, by

proportional allocation is
(1) 60 (2) 170
(3) 40 (4) 45

In a population divided into several
groups, if variation between groups is
large while that within groups 18
small, an appropriate sampling
scheme 18

(1) SRSWR

(2) SRSWOR

(3) Stratified Sampling

(4) None of the above

(16)

65.

66.

67.

LD/718

Let there be a population with size
500. A simple random sample of size
50 and a stratified random sample of
size 100 are selected and let ¥ and

y, be the usual estimate of

population mean. Then which one of
the following is true?

(1) V F.)<V ) always

@2 V[F,)< iV (7) always

@ V.)<5V §)always

(4) Nothing definite can be said
about the values of variances

Let X, and X, be a simple random

sample of size 2 (without replacement)
from a population with size N. Then
which one of the following statements
is true?

(1) X, and X, are independent and

identically distributed

(2) X, and X, are dependent but
identically distributed

(3) X, and X, are independent but
their distributions are not
identical

(4) X, and X, are dependent and
their distributions are not
identical

A population of 54 students is divided
into three strata whose sizes are 24,
12 and 18 respectively. If the number
of students selected from second
stratum is 2 in case of proportional
allocation, then sample size is

(1) 16 2 12

@) 9 (4) 6
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61.

62.

. 63.

64.

noonsioes’, B8 BEK SRt
?.‘uat’g:)n ‘rﬁoaJé
(1) 2n 2 2"
(8) n® (4 n+2
$5837es0 800 Ko 2.8), "5 3 IBzrenre
DROTTD. D IBDreTen O SNV
(5.9) & |80 DAHEDD :
SELT
; I II 111
9Bsrnsw| 200 300 300
= 6 8 12
s S50 Bood BBIremHw 120 Ko 886 58
ErIENR0 dAYSTIBR0. WS BeranoHE,
BodsH KBTI Koo ISR SSErS SBArED
(1) 60 (2) 170
(3) 40 (4) 45
S63redn 800 Ko &dws 3 Jzrevre
DT, B SBeEen e (BotsDOHRERD :
$BEH '
I II 111
“B4rmsw| 200 300 300
S85rman 120 Ko B0 (SOETHINM
s S50 08 HaYETIBRD. erudB Bera0
oegee, Botéd 6% &0 HSErS SBreRn
(1) 60 (2) 170
(3) 40 (4) 456
2.8), S°E50080 e HRrTTeIT R0,

BBaEEs0e  Mggie  DHedhn KD
B0 FIFFINOS D DBOHAN B DT

& S", BRD [SBES (e HES

(1) SRSWR

(2) SRSWOR

(3) :\_’16@3 HBETD e L’Jg@
(4) G2d=D

(17)

65.

66.

67.

2y, S50 SBIresw 500. $BHredw
50 Ko 558 arEydYS (SBErSI0R0 DBk

S8t 100 Xe

9B AIrSydE
POESS0eR) IRYE . T B Ty
W @D SHIT HASWD SR8
wosTren. Se (808 TOS® I8 desdn?

L Vv G.)<V [:)7) DYIPE
V () <3V () sgpee

V () <5V ) agapes

23 yoe devdes dFgore D20 BZHBH0

(2)

(3)
(4)

X, 8o X, «39 385rmin 2 fe
BBRAG)D HBY CSIEyAE (HBETDIN. @Y
%3 808 HSHH00S° 8 duB0?

(1) X, S08an X, e Sghody HoBain
a»d‘)%-?s Deremre)

2) X, 208 X, e emrdd 980w
ey DeTRT) I

(38) X, 8o X, e Jghody oBain
es.%ndj-‘ss Deradmee)

(4) X, ®6an X;eo egdd H08ao

eyt DerdEres

54 amgen Ko Y, 655:533;5{ SR
24, 12, $800n 18 IB6iredn Ko Damdd
NBgreomr DFR0IT. BoED ABEIL ook
s Wronod) TP YT  ESwD
SBareesane 2 #odS, (BSErD A

(1) 15 (2) 12
3 9 (4) 6



68.

69.

70.

71.

In a simple random sampling without
replacement, the probability of a
particular unit being selected at the
rth draw is

r 1
1 — 2
(1) N @ N-r
1 1
3 —— (4 —
(3) N-r+l ) N

In a population of size N = 5 have
mean 12 and variance 100. A size
92 SRSWOR is drawn. If X, denotes

sample mean, then E (ff) is

(1) 144 (2) 174
(3) 30 (4) 50
With SRS

16

p> 5 §y_
Yy
when

(1) the ratio estimate has smaller
variance than the SRS estimator

(2) the SRS estimate has smaller
variance than the ratio estimate

(3) the two variances differ by a
fixed number only

{4) none of the above

In the case of sample proportions, let
the following be given

n P S.E.
4 A 0.25
9 0.25 B
Then A and B respectively are

1 (05,05) (@) (%,0.25}

o )@ (b8

(18)

72,

73.

74.

75.

LD/718

The maximum value of the standard
error of proportion when n = 25 is

(1) 0.01 (2) 0.1
5 1 ' 1
(3) El (4) 5

Match the following correctly :
List1I

(A) Optimum Allocation

(B) Neymann Allocation

(C) Proportional Allocation
List II

1. n, <N,

NS,

A

3. n,xN,S,

2. n,e

Answer code choices :
A B C

(13 2 3 ;!

(2] 3 1 2

3 1 2 3

4 2 1 3

A sample of size 2 is drawn from a
population of size 4 with SRSWOR.
Let X, denote the random variable

that ith unit is selected in the sample;

i = 1, 2, 3, 4. Then the
Cov (Xi, XJ-)i #J is

1 1
0 — 2 —
(1 3 (2) n

1 iy

S 4y e

(3) 3 (4) 2

In a 2° factorial experiment with
randomized block design, the sum of
squares for the interaction AB is

@ [BL g [ABF
4 8r

(3) LAZB;F (4) None of the above
r
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- 69,

70.

71,

BORJBYD VB TGS HAETS e
SEAE, 1D PSS, 28 (B ADIRePI

B8 Sogrigh
CUS ) Nl_r
() Rr—_%; 4) %
S83remnn N =

5 Ko 3w Sogghosw
12 2B 9338  100. $63resw
2 o SRSWOR 9800858, X, &6 38
&5 Bodisiuan eonsS', E (62) seos

(1) 144 (2) 174
(3) 30 - (4) 50
%)
SRS & p > 1o 0% S8

JA
Y
DB wosT 2338 SRS eodwEod
B D™ GO

(1)
(2) SRS wodar 9348 2@ w0 Kol
B5), 51 G0cI0

(8) &+ Boch 23 o BsBEH0 2.8, JY
S0y BB

(4) =2d5D

HHErS  oddored’, & 308 STrothin
H4aDEH0

n P S.E.
4 A 0.25
9 0.25 B

A 58d50 B o deoden S50m

1 (05,05) (@) [%,0.25]

o )@ (i

(19)

72,

73.

74.

75.

25 ©onPYP, GBI DY,
EE° 550 Bg), KB de0d
(1) 0.01 (2) 0.1

@ X W

11 12

n =

&4 1308 TR B 3B DBWOB0
oy I

PO Berano)

bHaoS Beranod)

08 Sero00)
oy II

I. n,xN,

N,S,

N

3. n,xN,S,

(A)
(B)
(9)

2. n,x

a0 §%¢hen

A B (4
1) 2 3 1
2y 3 1 2
8.1 2 3
4) 2 1 3

SBhrmsn 4 Ko S%an Hod 2 KM
SRSWOR # JdySoyh. X; e i 3
GRS  JRYSH Ay DHoTRd
Sroododn. adyw i =1,2,8,4. i#j 8
Cov (Xi,X_,.) GBg); ded

1
(1) (2)_ Z
1 1
ry W=y

| o=

(3)

asmesyanE Dosssss’, 2° suY HarENS,

- AB 3858 |80 GBog), Stre 30830

[AB} [ABF
(1) 2 (2) =
(3) -[—EAB (4) =Dy

2r



76.

7.

78.

79.

A 4 x4 Latin Square Design provides
the following incomplete ANOVA table :

Sources of Variation S.S.
Columns 7.5

Rows 46.5
Treatments -

Error 55

Total 113

Then the F-ratio for treatments is

(1) 0.27 (2) 0.145

(3) 1.69 (4) None of the above

Let A, B, C be three treatments, then
which one of the following can be
considered as layout of a Latin square
design?

A B 0] A B O
(1) |B Ac|(2 |ABC
LABJ L&BC}
A B C] [c B A
(3) c A B| (4) B AC
LICAJ LBJ

In a 4x4 Latin square design, the

estimate of a missing value in the
usual notations is

) (R+C-;T)—2G
@) 4(R+C;—T)—2G
3) 4(R+C(;-T)+'2G
@ 4(R+C+T)-G
6
In a two-way classification, an

unbiased estimate of the common
population variance is provided by

(1) Block S8 '

(2) Treatment SS

(3) Error SS

(4) Total SS.

(20)

80,

81.

82.

83.

LD/718

If in the analysis of variance of a
completely randomized design, the d.f.
for the treatment SS is 4 and the
mean SS due to error is 2, while the
observed  F-value  for testing

- significance of treatment difference is

12.5, then which ome of the following
represents correctly the treatment SS?
(1) 25 (2) 100

(8 175 (4) 50

In RBD with 4-treatments and
5 replications, if one observation due
to 2nd treatment in 4th replication is
missing, then degrees of freedom for
the error SS is

() 7 (2) 10

3 11 4) 12

In RBD with four block and five
treatments, the block mean square
and error mean squares come out as

39 and 8, respectively. The efficiency

of RBD as compared to CRD is
(1) 4/5 (2 18
(3 12 (4) 28/19

The following data represents the
lifetimes (hours) of batteries for two
different brands :

Brand A : 40, 30, 40, 45, 55, 30
Brand B: 50, 50, 45, 55, 60, 40

Then the value of empirical
distributions  (F, (45), Fy (50))  of
Brand A and Branch B is

1, 1Y - 5.2
1 -, = 2 —=
(1) (3,3} (2) [ 6 3)

15 12
(3) (:Q",E) (4) (g,g}
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76.

7.

78.

79.

4 x4 erdS HY OIS edoHg ANOVA
53¢ &9 308 DADHOEIA :

BB DoTredw 2. 2.
DenDd) DEoRden 7.5
g SBe 46.5
asToe —
AR 55
20530 113

NP &dTrore B8 F-058
(1 2% (2) 0.145
(3) 1.69 (4) =Y

A, B, C 32 d0°t &5o°009S, ¢ 308
TOS® IO €3S DY BHD BoE), SBOTF?

A B C]| A B C|
(1) B A C| (2) A'B €
hCABJ hABC‘
& B-CF. c B A]
(3 |c A B|4) |B AC
B C A A B B|

4 * 4 er3S 3 5955°, ot Sodmrod,
&* 0% Dend By, wode

1) (R+cC +6T)—2G

@) 4(R+CgT]—ZG
@) 4 (R +C;—T)+2G
@ 4 (R +06+T)—G

88 5 Busmind’, &ayd S @y,
D3 1@ B0 38 BN

(1) o HE 300HH

(2)  &ST°8DEI0BIN

(3) &ang3sdn

(4)  200B300 D D0BHIW

(21)

80.

81.

82.

83.

sogrg  cirdydins S99 @wE), 2848
o3RS,

4 HBaH S0 @BwE), DOFERD0 D0,

g3T8  D3n. B, Rg.eo.

@), Sgwo. 2. GITTO BEI0 IYSH
9880 F-2end 12.5 @onds', & 808

TS DB 580D &HT T D3N, B Do

207
(1) 25 (2) 100
@) 75 (4) 50

4 &Soren HBatn § PdoHmreo Ko
RBD &°4 5 @éaﬂz‘;‘)éané‘a 2 5 &ITERN
SD0a5S?, %4520, Bk, NghoByes e

Gy (2) 10
(3) 11 (4) 12

4 podered HBatn 5 asarororen Ko RBD
&, Rots s DY 2By B Dogigho Sren
St 32 Ho8as» 8. CRD & 2oy, RBD

@ty g
(1) 4/5 (2) /8
(3) 1/2 (4) 2819

%o 808 SEroE, Dot B erswbe B8
SRR ATTDODI

ero& A :
ero& B : 50, 50, 45, 55, 60, 40

40, 30, 40, 45, 55, 30

wipc profey A Ba» B o &,

e0r0¥ derarey (F, (45), Fg (50))
1.1 5 2

(1 [E,—S'} (2) [—6-’-5}

; 15 12



84.

85.

86.

87.

Two samples are combined and the
observations are arranged in order of
magnitude to give the combined
ordered sample

X X3 Y1 Y2 Y3 X3 Y4 %4 %5 s
The number of runs will be

(1) 2 2) b6

(3) 6 (4) 4

Two samples are combined and the
observations are arranged in order of
magnitude to give the combined
ordered sample.

Xog Xy Y3 Y2 X4 1 %3
Then Mann-Whitney statistic is
(1) 6 @2 7
(3) 5 (4) 4

A non-parametric test for examining
the location aspect is

(i) 7% —test

(2) median test

(3) run test

(4) t-test

The test for goodness of fit based on
which distribution?

(1) z* —test

(2) medién test

(3) t-test

(4) sign test

88.

LD/718

The value of error sum of squares in
the given analysis of variance table for
CR.D.is

Source of Variations | d.f. |S.S. | M.S.S.
Treatments 4 — 3p
Error = | — P
Total 9 [425 |
(1) 125 (2) 200
(38) 225 (4) 300
89. Let for some r>0, a,=E|X| be

90.

finite, then consider the following

statements :

Assertion (A) : @, exists and is finite

for k<r.

Assertion (R): a, <a,, for 0 <k <r

Which one of the following is correct?

(1) Both (A) and (R) are true and (R)
is the correct reason for (A)

(2) Both (A) and (R) are true but (R)
is not the correct reason for (A)

(38) (A)is true, but (R) is false

(4) (A)is false, but (R) is true

Let (XHXE:"'s

sample from binomial distribution

b(1,6). Consider the

statements :

Assertion (A): X2 (X is the sample
mean) is a MLE of 8°

Assertion (R): X is an unbiased
estimator of 6.

X,) be a random

following

Which one of the following is correct?
(1) Both (A) and (R) are true but (R)
is the correct reason for (A)

(2) Both (A) and (R) are true, but (R)
is not the correct reason for (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true
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84.

85.

86.

87.

Both HBErIen 50D, S6%edeR S0heain

55200 RISy SOYS ety 5 SBETE

Xy Xg Y1 Yo Y3 X3 Y4 X4 X5 Vs

P SBK (runs) Sogy

(1) 2 (2) 5

(3) 6 (4) 4

Dotk BEETIO §9D, $68etems ST
B0 DGy Ay Eand E SE6rSH0

Xy Xp Y3 Y2 Xy I Xg

el 35S 2eh) JroR)gES0 deud
(1) 6 @Q 17
(3) 5 (4) 4

Bol8p Densdy 3830 @208 ::ei
(1) g%- 8%

(2)  Bogyre 9B

(3) 68 96%

(4) t-90%

ertuBOTr Tre S0% D Derating STt

(1) g% - 984
(2) gy 585
(3) t-98

(4) Sog 388

88.

%5 808 23y C.R.D. &0 2348 TSR
Swuég B8N Boo¥); D

BT 2TPOHL d.f. [S.5.

M.S.5.

&aTr8gen 4 — P

&880 — — P

0D 9 425

89.

(1) 125 (2) 200
(3) 225 (4) 300

r>0 esovdgpd, a,=E|X | o

SBRBBD. GIpc: S1 |8 08 (SSDTOR

$83oHa0

(59928500 (A) 1 k<1 eo0dqped  a, @8

&0¢0%) H0B0i HBDBDW

Sandsn  (R) : ay <@, ©o0dp@

O<k<r

53308 725" 28 dWI0?

(1) (A) 28050 (R) Boc s HoBain
(R) 38 (A) & 535 s°8e950

(2) (A) 2o8aso (R) doc Dz B850
(R) &38 (A) % 535 588500 570

(3) (A) «B38 pmdn 50 (R) «R8 dadw
S/l

(4) (A) @38 sRgsn 50 (R) &8 D&%
570

B Darmssn b (1, 0) Hood BSOS
aireyoys PSSR0 (X, o X )
511808 [SHHHB0R HBIO0BIBI:
sssan (A): X2 (X R0 3865 ody
Sod0) 638 §° MLE
gosssn (R): X «38 630y, 2388
©0DT°
%1808 TIS° B DwdN?
(1) (A) %8 (R) Boch desin D08k
(R) 38 (A) & 533 seas
(2) (A) 2080 (R) doc desdn 2000
(R) &38 (A) & 5% s80d0 52
(3) (A) 938 dman =0 (R) &8 dadw
5760

4) (A) &8 eaeagma 500 (R) 908 92350



i 91.

92.

93.

(4)

A sufficient condition for T, to be

consistent for & is
(1) E(T)>0asn—-w

2 V(@T,)->0asn—ow

(3) E(T,)>6o0r V([,)>0as
n — o

4) E(T,)->6and V (T,)—>0 as

n—o>wo -

Let Y, <Y, <Y; be the order statistic

of a random sample of size 3 from a
uniform  distribution U (6-1,8+1).
The M.L.E. of 8 is

(1) Y,

(2) Y,

(3) Any value between Y;-1 and
Y;+1
B

3

Let (Xl,Xz,Xa,---,Xn) be a random
sample from N (6, 8). Let

NS T - ¥
S _n_li;(xf X/,
lej—{+(n—1)82

n
T, =X + 8%,

T,=oX +(1-a)S? 0<axl)
Suppose the following statements :

(A) Unbiased and consistent for 26
(B) Biased and consistent for 26

(C) Unbiased and inconsistent for 26
Then, which one of the following is true?
(1) (Tua) (2 (Tg,a) |
@ E.e @) (T,,c)

94,

95.

96.

97.

LD/718

To test the hypothesis H, that a coin
is unbiased against H, that it has a

positive bias for heads the following
procedure is suggested.

“Throw the coin thrice if there are
3 heads reject H, or if there are just
2 heads throw the coin another
3 times and reject H, if and only if all
the three additional throws show

heads; if there is no more than 1 head .

in throwing of the coin thrice first
time accept H;”.

(1) 1/8 (2)
(3) 14 (4)

11/64
1/64

If X has a Poisson distribution with

parameter 6, ‘then the unbiased

estimator of (1+6) (2+0) is
1) X?2+2X+2

2 2X%+X+2

@ X?+X+2

(4) 2X%+2X+1

In a normal population N ((u, 0‘2)

lt the MLE of o e

§=1 3 (x,-XJ. Then the MLE
noa

of py, is

1 st 2) 38*

3 35 @4 28

Let. (X, Xy, X3 X5) be a
random sample from N Lu, crz).
A T d
O T W - A0S th
f S o m( LX), e

confidence coefficient associated with
the interval

g 2 2
w-1)8* <o’2<—-—-—~( -1)8 is’

2 2
Z(l_%] Z%
(1) « ' (2  T-a

@ 1 —% (4) None of the above
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91.

92,

93.

R " =af+(l-a)

T 88 O@Bwg, dofd  wosw
0508 Sovgd W88 .
(1) n— o soodgpd, E(T,)— 0
(2) n - o eaosypdd, V (T,)—> 0
(8) n— ® eavdsp, E(T,)— 6
85 V(T,)-0
(4) n > o eI, B (Tn)—> 9
8ato V (T,)— 0

besrs Dgramssn U (0-1,6+1) 008
EHED S8R 3 Ao Ard)DE (58
Br5H00 GE); (50 FrogEdn ¥ <¥, <Y,
P @ ), K.do.wo.

m %

(2) Y5

(3) Y, -1 50805 ¥ +150¢5 289 dewd
(4) Y, +Y, +Y,

3

(X,, X, X5,, X,) 38 N (0,60)008
D3STED CIrEyDNY (AL $o8ak

1 2 2
2 _ =,
S —n_lg(Xi xf,
T1:X-+___(n—1)S2,
n
T, =X +8S%,

(n-1)8?

n
T,=cX +(1-a)S* (0<a<l)
%5 1808 [SHOHHNOR0 SRS HB0
(A) 20 & DanBssn H6ak DoEESN
(B) 28 & 28550 8ot DeEEH0
(C) 20 & dap8Edn 2oBok edesEID
P, e 808 T°2S" D8 DeH?
(1) (Ty,a) @ &)
(3) (Ta ,C) (4) (T‘;,c)

(25)

94,

95.

- 96.

97.

28, TER0 dAdER H, & 938880 ab
Taneh) Gordys 386 fosd H; &
5880BEm08 &4 (808 IEA ©ROIBoBLERD.

“TEB0R) BT LD NI, 3 e
50395 H, % 86%),Bom0in B8 2 &dyen
3395, &8 TR0 AEE Jorvh A8 Y
Ackuaw Bty S 2T BE8Y IHEIBS”
oRy IEyer @S H, &
85,8005, oD TH0H Drdd
) NOEIDIGpe, afyd LoB D
Fayed o0, Hy & edrfoddn”. p 585,

Sorty, $BSTEaH0
(1 U8 (2) 11/64
(3 14 (4) 1/64

X 38 0 eb 5008 Ko onme
opmsste sQaws, (1+6) (2+6)
B0E), :‘02@5\5 eodT°

() X +2X +2

(2 2X%2+X+2

8 X¥32X +2

(4 2X%2+2X+1

oy S'ossn N (2, o?) & o® @y,

Ko.mo. S? =% i (Xi —f)g. e
Hy GI0E); K.H0.80. i

1 S 2) 38
3 38 @ 25

(XI,XE,X,,,---,'XR) edd N (,u, 0‘2)
S08 JARSHRAS CHYE  HOErDHN
s =;}__ i (Xe ‘f)z

BONRIPED, ;;é;csfm .
=15 _21) s <o’ < p-1)s* _12) §° &Boog),

Z’ a@ za
[1'5] 2
1) «a 2 1-«
(3) 1—% (4) =22 995Y
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98.

99.

100.

101.

Let X be the mean of a random
sample of size n from N (,u, 9).
If (f = 1) is a 90% confidence
interval for z, then the sample size n
should be

(1) 24 (2) 16

(3) 15 (4) 5

Let [XI,XE,XB,X4) be a random

sample from a Poisson distribution
P (9) The Cramer-Rao lower bound

- for the variance of an unbiased

estimator of 8 (1 +0) is

0
(L) 3
@) 0 (1 +26f
4
) 0° (1+6f
4
(1+ 6‘)2
4 i) o
(4) 1

On the basis of single observation X
from a uniform distribution U (-6, 8),

the critical region for testing
H,:0=1 against H,:0=2 s
C={x:|x|>0.9}. The level of
significance is

(1) 0.025 (2) 0.05

(3) 0.10 (4) 0.50

Let (Xl,Xz,Xs,---,Xn) be a random

sample from a geometric distribution
with pmf

plx,0)=001-6f"x=12--,0<0<1

Then X is an unbiased estimator of

1 @ @ ¢
1 9

5y = D —

® 5 @ -

(26)

102.

LD/718

Let (X,,X,,X,,,X,) be a random
N (,u, 0'2). Then

sample from

144 =lz X? is an unbiased and
n P=1

consistent estimator of

1) A @2 ©

2

(3) ,uz + 0'2 (4) o+ O’4

103. Which one of the following testing

104.

105.

-problem makes use of ¢-distribution?

(1) o*=op
(2) py=p; %P
@ of 20f

4) =t

The test for goodness of fit is based on
which distribution?

(1) Cauchy (2) x°

3) ¢ @ F

Let (X;,X;,X;,,X,) be a random
sample from N (a o, 0'2); o is known

constant. Then a sufficient statistic for

o 18
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98. N (1,9) 008 89S I0dS oSy
Posrs Soggusw X-op Sog, 90%
DFIDOH LoBEHD (X -1, )?+1) sonds’,
WP (FSEED SBIreDL N ded

(1) 24 (2) 16
3) 15 4) 5

99. (X,,X,,X;,X,) 386 dronerS dgrasdw

P () o8 JaySedd oreDys e,
6 (1+6) @y, dands woda By, 3338
G00%); 5700 — oo BI0D 5§
K
4
6 (1 +26Y
4
6% (1 +6)

(1)
(2)

(3)

.4
(1+6)
W =

100. Hesrs sgrmsin U (- 6, 0) 9008 S30875ndd
2.8, 58805 X i, Hj : 6 =1 % d¥tsor
H :0=2 % 9383000 RoBY @roddw

C={x:lx\>0.9}. BIpd YT oo

Dend
(1) 0.025 (2) 0.05
(3) 0.10 (4) 0.50
101, (X, X;, X,,~,X,) o8 oo

BBETSAD $0.30. (9.
plx,6)=0@0-6f"x=12,,0<6<1
Ao wgé’)oa%oi) DermIRN 0G JHYE BWAHA.
wipc X 30 B8 dandl eova?
(1 2 ¢

1
(3) (4) r

= D

(27)

102. (XI!X2?X3! '"an)

103.

104.

105.

wnd N (u, 0'2)

200l JHPETRAGD s (FEETHHD.

agped T, .S Z X? 38 54 808 05
i=1

028 Dam8¥ 2oBokw VO¥E BOBT?

2

1 4 @2 ©°
(3) ﬂ2+0'2 (4) ,u+o‘4
Sa 308 BHED O D857 H[S' -DerERB

TEHE?

1 o*=0;

(2) py=p; *p;

@) ol=o;

4 m=m

siotoqms e 965 D dwwdinp
egrEatiadn? _

(1) =8 @

@) ¢ @ F

Xy, X, Xay -, X,) o838 Na o, 0")

208 JYSHRED  AITEyNE  (SBETIAW,
T @ JCoLIN. Bjpcd o B0, SovgS



106. Let (X,,X,, -~-,X,) be independent '

observations from a population with
finite variance o°.. A consistent
estimator of the population mean is

1 X, +X,
2
(2) n'i X
(3) 2 X} —nX
(4) 1‘\T=olne of the above
107. Let ¢ (¢) be the characteristic function

of some distribution function F (x).
Then which of the following is not true?
(1) ¢ (t) is uniformly continuous

@ |e)|=1

@) ot)=e(t)

4) ¢(0)=1

Let ¢ (t) be the characteristic function
of some distribution function F (x).

Then which of the following is not a
characteristic function?

108.

1
ol =
® ) 144
(2) @(t)=cost
3 |e @]
4 |e ) |2
109. Let ¢, () and @, () be two
characteristic functions. Let

k ()=ap () 0sas],

ky (t) =@ (t) + @ (t): and

ks ()=o) @, (), then choose the
correct answer from the following :

1k (t) is a characteristic function

(2) &k, (t) and k, (¢) both are
characteristic functions

(3) ky (t) and & () both are
characteristic functions

(4) only k, (t) is characteristic
function

(28)

LD/718

110. Match the following correctly :
Distribution Function

N (2,2)
P (2)

(A)
(B)

(C)
(D)

Cauchy distribution
Binomial distribution
Characteristic Function

!1 + 2e* I

(a) o7
(b) eza—z:’
© exp2f*-1}
d) exp-2|t]

Answer code choices :
B ¢ P
b d

>

(1)
(2)
(3)
(4)

Lo S

a
o a

o o
PR
ot ot A ©

Cc

111. Let X be a random

distributed with N (0,1).
E (cos 2X) is '
1 o

variable
Then

(2 1

vl

(3) e? - (4) e

112. Let X be distributed as Cauchy

distribution with pdf

f (x)=—(——)1 Pt
z\l+ X
Then E (sine 2X) is
(1 1 2 0
(@ e 4 ¢

—w <X <0,
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106.

(X,, X, =, X,) A6 56208 2338 o
o &%50 Kood JHYEHRED Kgolss S0%e

P, S Dogigoin Bk, DeEE el

107.

108.

109.

X, +X,
2
n —

X
n-3

@ 3 X?-nX
i=1

(4) =3

(1) -

(2)

F (x) &8 ogres (Sochdn @y, er¥ds

a0 ¢ (t). S 808 TS° D8 dasw

5207 _
(1) @) 5% 85 edaydsn
@ |e)|=1

@ o@)=p(t)

4 ¢(0)=1

F (x) o8 ogresd (Soophidn @), oy
Shoahdn ¢ (t). & Bod TS® 08 o3
SRR 5507

M el)=1 -
2 @)=cos(t)
3) | @]

@ |e@®)[

o, [t) 0Bt @, () @38 Botd o¥Bs

Shasire. k (t)=ap ), 0<a<l,

ky (t) 51 (t)+ P2 (t), BEEEY

ks ()=, )0, ). & 208 0S5 535

K);im.?;ﬁ;ﬁxs& DS 0B

(1) &y () 038 ergsis oo

(2) Ry () 2o8cso &, (£) ed2 U"is.%g
| SBoofren

(3)  ky (t) 938050 ky (t) 636 ergedy

SHocTmen o
(4) () 55 oghs Shochsn

(29)

110. & 208 TE BESTRDD

Deresd [FaRoakaH
(4 N(2,2)
(B) P (2)
(C) seaeradsw

(D) B Dgrarddn

erE3Y [SooHHw
@ Lr2etl
27
(b) em‘:-z:‘
(¢) exp2 {ei‘ = 1}
(d) exp-2|t|

grred) §%¢en

B C

A D
1) =a b ¢ d
@2 b c d a
@) ¢ b a
4 d b c

111. X & otrey2ys Sood sgrmsin N (0,1).

wipcd E (cos 2X ) Dend
(1 O 2 1

wa e

3) e* (4) e

112, Xea?ﬁﬁ %50.300.3.

—m <A <P, 355
f() frll+xi e =

Dees DN ggam:aa. wgpto E (sme 2X)

DD
1B 1 @ 0
@) e w €



113.

114.

115.

116.

Suppose the variable takes
values 0,1,2,---,n with frequencies

1,*C,, "C,, -, "C, respectively. The

mean square deviation about the
origin is
n(n+1) 2 n(n+1)

(1
) 2 4
n+1 n’+1
3). — 4
) 2 (4) 2
Given the following :
Sample size 50 100
Mean 54.1 50.3
S.D. 8 7

Then the S.D. of the combined sample
of 150 is

(1) 57.21 (2) -57.21

(3) 17.56 (4) -7.56

The measure f3, is independent of

(1) Change of scale only

(2) Change of origin only

(3) Both (1) and (2)

(4) Neither (1) nor (2)

Let there be two observations x; and

on the variable X. Then the

s/ Variance of X is

X

fy | =
2
(2) range
(3) 2 (range)
(4) none of the above

(30)

117.

118.

1) 3

119.

120.

LD/718

In a firm the average salary of male
employees was Rs. 520 and that of
females was Rs. 420. The overall
average salary was Rs. 500. The ratio
of male and female employees was

(1) 70:30 (2) 80:20

(3) 78:22 (4)

82:18

In a mesokurtic distribution the
fourth central moment is 243. Its
standard deviation will be

(2)
(4)

27

3 9 81

A man having to drive 90 km wishes
to achieve an avearage speed of
30 km/hr. For the first half he
averages only 20 km/hr. His average
speed in the second half of the journey
in order to achieve the desired average
should be

(1)

(3)

45 km/hr (2) 40 km/hr

60 km/hr (4) 50 km/hr

Second and third central moments of a
distribution are equal. What is the

nature of the distribution?

(1) Symmetric
(2) Asymmetric
(3) Positively skewed

(4) Negatively skewed
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113. 2§, Hoo? 0,1, 2, n es dended
:ﬁ):)ﬁ“ 1, RC]_, HCz,"', ncn Eﬁ ﬁ’w

ORchod. Mresn doey Dgg Y

2H0HH0 00D
o)) n (n +1) 2) n!n+1[
2 4

n+1 el

(3 — 4
) 5 (4) :
114. & 2066 adgpdss

B85S :aa:mea;m\- 50 100
$305580500 l 541 | 50.3
550 DBOFHD l 8 7 |

150 Dewd Ko éad HEITID0 1B DHODDIN0
de0D

(1)
(3)

57.21
7.56

-57.21
~1.56

(2)
(4)

115. f, o Sos B08 d5poidgn
(1)
(2)
(3)

(4) (1) %080k (2) Bodr® S

S0 A8 SrED
Saren Sr8)a8 Sy

(1) Ho8acsw (2) Bodir

X 58 Seoed @Y, Botk S88eden X, 20Bcid
%, . X B, 15{13@
1 =

—

2

=3

2 (am2)
FNSEY)

116.

(2)
(3)
(4)

(31)

117. 28, Seps’, 20K &% So°8 2650 8. 520
Sofato e s8R PR Bedn & 420.
0850 Ho°8 B3 6%, 500. BoK S8t
et 48500 RS

(1)
()

T70:30
18122

(2)
(4)

80:20
82:18

118. 202958 Derassnd’, wgd Jofah Fros
243. B2 BE); ES DHOIIN |

(2)
(4)

(n 3
3 9

217
81

119. 24,¢ 90 8.5, Sairedni Ho°s0 DK 30 |
km/hr, & Brroso®oered. D08 & BHH0
rsao $ovs8 Bitsas 20 km/hr. & 3R,
€65 P08 BSwRy ABodows, 20ROD
6500 BIE3NK Jod Jo°RB BKH0E (HoLe

Bo0HBN?

(1) 45km/hr (2) 40 km/hr
(3) 60km/hr (4) 50 km/hr

120. 24, DwrasswsD Doud HBako Bl
ZolBoH Frdsen ST DereEdHn @Y,

o) DMWY, =

(1) &rgdan

(2) edegddn

(3) Gardys edudd
(4)  moeil odgod



121.

122,

123.

124.

Let (X,,X;) be a random sample from
N (0, 1). Then P [X,X, >0]is

(1) 1/2 (2) 14

3) 13 4 1

Let (X,,X,) be a random sample from
uniform distribution U (0, 1). Define
Y =-log, X. Then P v, <Y,|is

(1) 12 (2) 1/4

3) 133 (4 1

Let (X, X,) be a random sample from
pdf f; (x) For testing hypothesis
f,=N(0,1) against the alternative

hypothesis f; (x)=[£}2 e’ x>0,a

/4
critical region
C= {(xl,xz):xf +x2 > log, 9}
is obtained. Then (a, A) is

(1) (1/3, 1/9)
2 (1/3, 1/3)
(3) (1/3, 2/3)
4) (2/8, 1/8)

Let (X,, Xz) be a random sample from
gamma distribution G (1/2,6). For
testing hypothesis H,:6 =1 against
H, :6%1, a critical region
C={X,X,): X, +X,>log 4} is
obtained. Then power function 2 (9) is

L @4y @ (4
3 ([r2f (4) (112)13

(32)

125.

126.

127.

128.

LD/718

Let (X,,X,) be a random sample from
a binomial distribution b (1, 9). Then
which one of the following is not
sufficient for the family of
distributions { (1,8):0< 8 < 1}

1 X, +X, (@ X, +2X,

@) 2X,+X, @ XX,

Let (X,,X,,~,X,) be a random
sample from N (6,8), 6>0. Then a

sufficient, unbiased and consistent
estimator of 8 (1 +6) is

th - X @ > X7
i=1
1< 9 n+l =
3 =) X; —
3) nz‘{ P@ —X

In the experiment of throwing two
dice, the probability of getting two
different numbers on two dice is

(1) 15/18 (2) 13/18

(3) 1718 (4) 5/18

If X is a uniformally distributed

random variable in (- 2a, 2a) then its

distribution function will be

x+a
1) F = ~Pa<x <2
(1) X(x) = a<x<2a
(2) Fx(x)=x+za—2ﬂ.<x52a
' 3a
(3) FX_(x)=x+2a —2a <x <2
4a
(4) Fx(x)=x+2a—2a<x£2a

a
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121.

122.

123.

124.

(X,,X,) «38 N (0, 1) o0& &8 SwEH
QirtsyDy8 BAErSAD. eipd P (XX, 2 0]

DD
(1 12 (2) 1/4
(3) U3

4 1

(X,,X,) @36 bssrs agrassn U (0,1)
o8 BWETHES ArGDS  ([S8ErSHw.
Y =-log, X. espc P [Y1 <Y2] de0d

(1) 12 (2) 14
(3) 13 4) 1

(Xl,Xg) @38 Ro.o.d. f,(x) %ol
QRTINS CIrEyyE BSErSn. aSsgyd
f, =N (0,1) 5588%or Serghmch as¥ey
2 2 —:2/2 :
fi[x)=|=| e x>0, % 388oseH
T
B H0BY{ 0B
C= {(xl,xz):xf + x5 > log, 9}
ogp (a, B) seden '
(1) (1/8, 1/9)
2 (1/8, 1/3)
3) (1/3, 2/3)
(4) (278, 1/3)

(X,, X,) 938 mar sorasin G (1/2,6).
2008 amﬁ’a&m Iy a)E  SBETISE.
$8¥eyd H,: 0 =1 % 33@0sore H,:0>1
2 B0Bchunt TG

OB PosH0

C={X,X,): X,+X,>log, 4}. %
Boaso £ (6)
1 Qe @ @4
&
@ W @ e

(33)

125.

126.

(X, X,) =38 a6 dgrassn b(1,6)
B0k DARERI  GIEy)E  BOETSIW.

b,6):0<6< 1} oereddy Hewowdd

%4 808 TS’ DB SorgHEn?
1 X +X, (@2 X, +2X,°
3 2X,+X, 4 XX,

(X,, X,,, X,) @d8 N(6,6) 6>0
008 0 EDR IR (SBETSH0. SHHE@

0 (1 + 6) @Y, Sog3, DAYAS BN Do

=1

Zleh e
o X @ ) X}
« Fal
1< 2 : n+l <=
=¥y x: 4 —X
@ =25 @ =

127. ot 0k B0 SArKanS’, Toth Do

128.

Bocky FagHo Jogygen :)3‘) HoerSg®
(1) 15/18 (2) 13/18
(3) 1718 (4) 5/18

X 38 (-2a, 2a) & DEErS dgraHiN-

595y, B0 Gk, Derai [FHE

(1) Fylx)=2E2-20<x<2a

2a

@ Fple)=232% _9a<x<2
. da

(3) Fx(x)=x+2a—2a<x$20
x +2a

@) Fylx)= -2 <x<2a

a

el



129. If X is binomial random variable with
n=2 and p=0.6, then the variance
of the random variable X/2 will be
(1) 0.12 (2) 0.48

(3) 0.24 (4) 0.24/42

130. Let X be :; standard normal variate.
DefineY =X, if X220
==-X,if X <0
Then the distribution Y will be
(1) Normal
(2) Cauchy
(3) Uniform
(4) None of the above

181 If M, (t)=lit~, t<1, then the

variance of X will be

(1) 0

2 1

3) 2

(4) None of the above

182. If f (x) is the pdf of standard normal
distribution, then E [f (X)] is

i) -1
(L} — 2y —
N2r 2\[;
1 1
3. —= 4) —
rr\/a 27

(34)

LD/718

133. Let X have a Poisson distribution with
parameter A, then the wvalue of

F(0.5) is

1 e @ 2+’
2

@ € @) e

134. Let X be random variable with
distribution function Fy (x)=1-e™*,

O0<x <o, A>0, thenE(X) is

1 24 @ 4
1 A
b ) 2
(3) 7 (4) 5
135. In a binomial distribution

with parameters n and p,
P[X=0]=P[X=1], then  the
coefficient of variation is

M n @) P

@ 1 (4) nlp

186. The least value of k in Chebysheve’s
inequality for which the probability
- that random variable takes on a value
between u—k o and u+k o is 0.99
s
(1) 10 (2) 16
3 12 (4) 20



W T T . B W wrrm e

LD/718 Vi= - (3B}

129. n=2 8ot p=06 Ho B
Derasdtno X §9asnss’, X/2 ook, 3558

(1) 0.12 (2) 0.48
(3) 024 4) 0.24/42

130. X @8 @raoeeds Aoy Dood
Y =X, X220 eondipi
=-X, X <0 20033p

DEDoBREDE. wEp@d Y ), DerasdSn

(1) Sdrdghn
(2) =2
(3) EBrII0

(4) =ddsd

181. My ()= Il_t- |t <1 sy, X @08,

E)'.-_f)na@
(1 0O 2) 1
3 2

(4) a2ds"y

132, S iRy dgredin 0.0 . f (x)
esawdsS, E [f (X)} De0d
1 1

1 : 2) —
i A s = =
1 1
(3 " (4) —
. 72 ( 27

i

133. X ¢38 Soe0d A Ko IeanES JeresdN

sgaioigB. egpe F (0.5) e

Je~* pa
2

(1 e? (2)

(3) e—24!. (4) e—ﬂ.53

134, X o osegys dood G, dere [SapaDn
Fy (x)=1-e, 0<x < A>0,

s, E (X) amél, Devd

) 24 2) 4
1 A
. 3 5 (4) o

185. n H8a p Sordudven Ko B Dermdns’

P[X =0]=P [X =1] 0005, ademosin

sed
1) n @ P

@ 1 (@ nlp

186. 3035 essrEand’, B G BeTR
u—K o $8a» p+k o a9 &
£ Hoerdg® 0.99 wondS’, k S, 03

2e03)

(1) 10 (2) 15
3) 12 (4) 20



137.

138.

139.

The

random variable is

distribution function of any

1: always right continuous

I1: right discontinuous at countable
number of points

I1I : monotone non-decreasing

Select the correct answer from the

following :

(1)

None of the

three

above

statements is always true

(2) I and III are true, but I is false
(3) II and III are true, but I is false
(4) All the above three statements

are true when the r.v. is discrete
Mode of the p.d.f.

1 = )

f(x)=5e 8 0sx<wis
(1) 0 2 @
(3 1/0 (4) None of these

The probability mass function of a

random variable X is given by
1
P (x) = F;

=0

x=0,1,2,-
otherwise
j i
Then E [——] is
X
(1) 0
(3) 172

(2 1
(4) Does not exist

(36)

140.

141.

LD/718

The joint p.d.f. of (X,Y) is
f(x,y)=2;0<x<y&1

Then E (V) is
@ 1 (2) 1-x°
@ 0 @) 23

Let X have a binomial distribution

" with mean = 4 and variance = % then

142.

143,

P [X>1] will be
1) 1729

(3)

(2) 723/729

728/729 (4) 1/243

If the p.d.f. of normal distribution is

proportional to exp {— -1— x? + 5x} ;

which one of the following is the value

of mean? :
(1) 0 (2) 5
(3) 10 (4) 2Jre®

f P[AuB]=5/6, P[ANB]=1/3,

[ﬁ}:uz, then the events A and B

are

(1) dependent
(2) independent
(3) mutually exclusive

(4)

none of these
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137.

138.

DB airesyayE oo Gy, e [Sochin
I deupth HE ook edd)nHdn

II:  KesdeedS DothDO 98 HADOE DRI
III: 2583 8Mse 808

S 208 TR 08 RBADH JATEERHLDR
MR Y

(1) 500 (S35:95006° 28 derdad S
(2) I208afo II desdoo, 520 1T e
(3) II %0805 III a;séoo, s 1 wa)'g;’m
(4) g8 Devrd edJWPIPE®, P

o) [FHBH200) Dadn

P0.200.(3. Soo-? f(x)z%e 8 0Lx<®

o?mgb 2TVIES0
@ o @ 0
FDISY)

139.

(3) 1/6 (4)

ardydys DeTd X 3Bw¥), Ddogrdgh (8535
[FR0asH0
p (:c):-%; x=0,1, 2,
2
=

elactoftan

oS E (—1-) Dend
X

(1)° 0 (2) 1

(3) 12 (4 ok

140.

(X,7) @, Socing So.270.3.

f(x,y)=2;0<x<y <1 wondst, edpd

K (V) 2e0n
(1 1 (2) 1-x*
3 0 (4) 2/3

141. X 38 Sogsgiosn = 4 080k 938 =

142.

143.

co| e

Ko B3t Derassod sQamst, P [X 21]

BwE); DenDd
(1) 1/729 (2) 723/729
(3) 728/729 (4) 1/243

avm_u.'sa dgresdtn  GE), H0.7°0.|9-,
exp {—i—xz +5x} GATRE DROFEINS

&S, S0 (808 TOS® B B0 deD?

1 0 (2) 5
@ 10 4) 2Jxe®

r[AuUB]=5/86, P[AnB]=1/3,

P[B]=1/2 eowss, A wBato B &b
Hoeoden

(1) ese883

(2) oo

(3). SBEHBHFTeen

(4) =>dstH



[B]
144. If the possible values of a random
variable X is 0,1,2, -, the E (X) is
1) P[X>n]
(2) P[X <n]
@ Y PX=n]
n=0
4 Y P[X<n]
n=0
145. Let X be a single observation from a
p.d.f.
flx,0)=6x°"" 0<x<1, 621
=0; otherwise
For testing H,:0=1 against
H :0=2, a critical region

¢ = {x:x > 0.99} is obtained. The value
of (a, B) are

(1) (0,08)

(2) (0.01,0.019)
(3) (0.01, 0.009)
(4) (0.01,0.98)

146. Let (X,, X,) be a random sample from
a Poisson distribution P (1). Then the
statistic ' = X, + 2X, 1s
(1) Unbiased and sufficient for 4
(2) TUnbiased but not sifficient for 1
(3) Biased and sufficient for 1
(4) Biased and not sufficient for 1

(38)

LD/718

147. If the p.d.f. of random variable X is
f(x,9)=93xp{-9x] 10<x <o
=0 otherwise

(1) Sample mean
(2) Sample median

1
- (R AT D
& . Sample mean
| 1
4
@ Sample median

148. Let (X, X,,X,,-,X,) be a random

sample from a uniform distribution
U (6,1). The M.L.E. of 6 is

@ Yx @ Y&
=% i=1

(3) Max {X;, X,, X, }
(4) Min{Xl’Xi!:"'Xn}

149. The p.d.f. of random variable X is

f(x;e)ﬁ-z}—gexp{_—‘;c—l-}; —0 <X <P

17 =2 % K wd = DK,

then which one of the following gives
the M.L.E. of 6?

(1) T) only

(2) T, only

@ T, and T, both

(4) Neither T} nor T,

150. If X is a binomial random variable
with parameters (5, 0) , then UMVUE
for y (6)=0(1-6) is
o Xl g Eo)

3 xglax) @ X (x-1)

0
2 20
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144. X &3 ey doord Gw¥), Ay DenHen

- (3)

0,1,2,3 - ©onds, E (X) @o0¥), de0d

(1) P[X>n]

2) P[X <n]
Z;P[in]

(4) i P[X <n]

145. X 28 a8 Ho.270.13.

146.

flx,0)=0x""% 0<x<1, 621
=P BT

06 SEHwES 98%ed. Hy:0=1 %

sg@8%ore Hy:0=2 & 5830d0eH T6

D08 @rotaw ¢ = {x g 0.99}. P

(e, ,8) DeNJeD

(1) (0,0.9)

(2) (0.01,0.019)
(3) (0.01, 0.009)
(4) (0.01,0.98)

(X,, X,) ©36 ronmrd dgraddn P (2).
2008 JAREHwED AUBE (SSErHhL.
wped T =X, + 2X, &R ropgsan |
(1) A % dapdEnn 50800 SomHaw
(2) A % DABEAN 50 So%5HB0 S
(3) A % 28550 08ak SorgsHw

(4) A % 8550 5°R ITHHn 57

(39)

148.

149.

150.

147. X oid afreydys Houed @), %0.700.(3.

f(x,&)zﬂexp{—ﬁx}; 0<x<w
=3 [BY|Te
oS, 6 @), K.do.0. (M.L.E.) b&8?
(1) (BO8rS Dogghodn
(2)  (HOErS Doy
(3) 1
PRBID ;‘)135’:.33;&13

(4 sesms Saggissn

(XL,XZ,Xa,---,Xn) A8 D& dgraan
U(6,1) #ood d85owdss, 6 &g,

K.50.00.

v ¥x @ 3x
i=1 i=1

(3) Max {X,, X,, X, }
(4) Min{Xz,Xz,---Xn}

asryR)s Beot X ), $0.870. (3.
f(x,9)=-23‘5-exp{"; '}; —0<x <

1
Tﬁ%z X, %o8c T, =;Z | X; |

ausS:, Se B8 TS 28 0 B, f0.00.7

1) T, s
(2 T, s .
(8) T, %8akn T, endoid
(4) T, 508050 T, e0 B0 5°)
X 538 (5, 0) scaoten Ko Bgdes &S
sood wonns® w(0)=0 1-6) g,
UMVUE
2 2
© - X-X) x(x-1)
(3) 50 Wl =
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ROUGH WORK




